1. Efectla las siguientes operacionesy simplifica el resultado:
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a)(6—5)+(2—-i)—2(-5+6i))=6-5i+2—i+10—12i = 18 — 18i
b) (2 — 3i) — (5 + 4i) +(1/2)(6 = 4i) =2 - 3i—5—-4i + 3—2i = — i
c)(3+2i)(4—-2i)=12—-6i+8i—4i°=12+2i+4 =16 + 2i

d) (2 + 3i) (5-6i) = 10 — 12i + 15 — 18i* = 10 + 3i + 18 = 28 + 3i
e)(—i+1)(3=2i)(1+3i)=(=3i+2i°+3-2))(1+3i)=(3-2-=5i)(1+3i)=(1=5i) (1+3i)=
1+3i—5i—15i> =1+ 15—2i =16 — 2i

2+4i _(2+4i)(4+2i) _8+4i+16i+8i> _8+20i+8(-1) _8+20i-8 _20i_.
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g 174 (1= 4)E-0) 312+ 4" _3-13+4(1) _3-181-4 1131 y00a)
3+i (3+i)(3-i) 37 i 9-(-1) 9+1 10
| A+4i _ (4+4iy(-3-5) _~12-201~12i-207 _~12-32i~20(-1)_8-32i_ 4 _16,
“3+5i (-3 +5i)(=3 i) (=3) - (5i)° 9-25(-1) 34 17 17
) 5+ | (5Hy(2+i) _ M0 +5i-2i+i | A0+3-1_~11+8i _ 11,3,
i T (2o (2+) | (2F-F 4-(—1) 5 5 5
) 151 _ (1+5)(3-4) _3-4i+15i-20 _3+11-20(-1)_3+11+20 _23 11,
V314" 3+aiv3-4) 32 -4y 9-16(-1) 9+16 25 25
ol (4-20Vi 4i-2i
k)4.2|:(4 .22|)|:4| 12| - o4
| | -

) 6-3 5+Ei =6 -15 —éi =—9—§i
5 5 5

3i(—4i+2) _ (-12i2 +6i)(—2-3i) _ —24 —36i -12i—18i® _ -24 -48i-18(-1) _ -6 48,
—2+3i  (2+3i)(-2-3) (2 -@)* = 4-9(-1) 13 13

m)

27
2+2i (2+2i)(2-2)) 22 _(2i)? 4 -4(—1) 6 8 8

n) (-3i)*(1-2i) _ —9(1-2i)(2-2i) _(-9+18i)(2-2i) _ -18 +18i+36i+36 _18+54i _9
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